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Directions (1-5): AT 9=t & yReAaTash REa (7) F TUT W FAT AT
HIoT 3TT aligﬂ-

419.97
69.87

Q1. 110.1 x
(a) 15

(b) 25

(c) 20

(d) 10

(e) 30
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+ 499.9 -39.9 =7% of 5600

Q2. 630 x7+1199.85-55% 0f15999.93 = 19.87 % of 9249.87
(a) 12

(b) 18

(c) 20

(d) 15

(e) 8
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251.93
293.87

Q3. \/(524.97 -489.87)2 + (244.89)% =?
(a)6

(b)1

()7

(d)5

(e) 4
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262.

63;” + {/1330.96 = (18.87)2 - 289.86

Q4.
(a) 187

(b)177

(c) 167

(d) 157

(e) 147
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Q5. 726.98 +(13.98) > -/528.98 =? % of 4998.98
(a) 18

(b) 24

(c) 28

(d) 26

(e) 14
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Directions (6-10): AT &A1 s[@em & ITod de AT HIfoTU-

Q6.74,100, 160, 188, 250, 276, 338
(a) 250

(b) 160

(c) 100

(d) 276

(e) 188
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Q7.32,48,90, 240,720,2520,10080
(a) 32

(b) 10080

(c) 720

(d) 90

(e) 2520
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Q8.12,1740, 1619, 2619, 2538, 3050, 3000
(a) 3000

(b) 3050

(c) 1740

(d) 2619

(e) 1619
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Q9. 126, 190, 260, 350, 462, 606, 790
(a) 606

(b) 462

(c) 190

(d) 126

(e) 260
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Q10. 79, 81, 164, 494, 1978, 9892, 159352
(a) 1978

(b) 59352

(c) 494

(d) 81

(e) 79
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Directions (11-15): STET &T alﬁ'ﬁj? egga AT qur 7T & 3w dfov)
A &1 a5 drferepr et gohleil & aTgepl &l HEAT AT THIE &AT arell sl &
gfaerd 1 gairdr gl




e fufa
qIEF AT gFE | qEF P WEAT | ATl AISHI T
gfaera
A 3600 18%
B 2400 12%
C 1300 26%
D 4200 14%
E 1800 15%

Al : YA gl H S5 Sl J&ar = 3o Ul arelr s & e + e &ufa
aTell 918 S &7

Q11. gehlel B 3R E &1 fATRY 3redt TRl arell aTgeh &1 H&ar, gl A 3R C &1

Ao @e eufa arel ass ff gEar @ Faar 3% &7

(a) 2656

(b) 2646

(c) 2648

(d) 2664

(e) 2668
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Q12. gl A # @e T&ufd arell aTgsh dr T&ar, gl B # Tre &yfd arell g

T HEAT § Tohclel TidRIT 31 g7
(a) 110%

(b) 105%

() 125%

(d) 115%

(e) 135%
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Q13.gdI C 3N E # 3redr Ul arell ageh dr @ear &1 3iad &1 g2

(a) 1236
(b) 1216



(c) 1226

(d) 1246

(e) 1256
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Q14. ghTel B 3R D & A T T&Ufd arell a1geh o §&aT ol gohrel A &
et el arel ars 1 — Fewr & s fhae g

(a) 146 : 123

(b) 146 : 127

(c) 146 : 129

(d) 149: 126

(e) 146 : 121
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Q15. Ife gl D A %Wa‘iﬁﬂé%‘l dl gl D H ST ST a1seh, HATT gl
R @9 Ufd arelt sgs Fr gear @ fhdar gfaera 3if8e 82 (Ghad 3 d5s &l
ST ST HehdT § S 37T ufa & §)

() 102 2%

(b) 104 2%

(c) 106 2%

(d) 108 2%

(€)110 2%
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Solutions
S1. Ans(c)

Sol.
110 x 222 4 500 — 40 = 7x %%
70 100

660 + 460 = 56X?



7= 1120

56
?7=20

S2. Ans(d)
Sol.

630 x 2 + 1200 — == x 16000 = 2% %9250
100 100

630 x?+1200-8800 = 1850

7= 9450

630
?7=15

S3. Ans.(b)
Sol.

J(525 —490)2 = (245)2 =?-g
35,22 ,

245 294

2482

7
?_

s
7
1

S4. Ans.(d)

Sol.

C8340) + Y1331 = (19)>-290

@+11=71

?7=420-263
?7=157

S5. Ans.(a)
Sol.

727 + (14)%2-+/529 = ﬁ x 5000
727 +196 - 23 =50 x ?

900
?=—-=18
S6. Ans. (b)

Sol. Wrong number = 160

Pattern of series -

7|4 1§|)0 1?2 1i|38 2?0 256

3?8

+26 +62 +26 +62 +26
So, there should be 162 in place of 160.

S7. Ans. (d)

+62



Sol. Wrong number = 90
Pattern of series -

3|2 zhs 2310 7%0 25"20 10?80
x1.5 x2 x2.5 x3 x3.5 x4

So, there should be 96 in place of 90.

S8. Ans. (a)
Sol. Wrong number = 3000

Pattern of series -

1F 17?0 1%19 2?”9 2??8 BqFO 3001
+123 -112 +103 -02 +83 -7
So, there should be 3001 in place of 3000.

S9. Ans.(e)
Sol. Wrong number = 260
Pattern of series -

126 190 262 350 462 606 790
\_/\/\/\/\_/\_/
64 72 88 112 144 184

L N T L L e

8 16 24 32 40
There should be 262 in place of 260.

S10. Ans.(b)
Sol. Wrong number = 59352

Pattern of series -
79 81 164 494 1978 9892 59354

x1+2 x2+2 x3+2 x4+2 x5+2 x6+2
There should be 59354 in place of 59352.

S11. Ans.(a)
Sol.
No. of bike in good condition in shop B & E together

2400 88 + 1800 X 85
= X — _—
100 100

= 2112 + 1530 = 3642
No. of bike in bad condition in shop A & C together

= 3600 X — + 1300 X —=
100 100
- 648 + 338 = 986
Required difference = 3642 - 986 = 2656



S12. Ans.(c)
Sol.
No. of bike in bad condition in Shop A

= 3600 X 18 _ 648
B 100

No. of bike I n bad condition in shop B

= 2400 X 12 _ 288
N 100

Required percentage =
=125%

648—288
288

x 100

S13. Ans.(d)

Sol.

Required percentage =
962 +1530
=—

85

[1300 x 2 11800 x
100 100

N |-

= 1246

S14. Ans.(a)
Sol.
No. of bike in bad condition in shop B & D together

2400 12 + 4200 X 14
= X — _—
100 100

=288 +588=876
i th of bike in good condition in shop A

3600 B2 X 738
= X — X — =
100 4
Required ratio = % = 146 : 123

S15. Ans.(b)
Sol.
No. of bike unsold from shop D

2 4200 % 86 1204
= —X —_—
3 100

No. of bike in bad condition in shop D

4200 14 588
= X — =
100

Required percentage =
_ 616
- 588

—104160/
Y T

1204-588
588

x 100

x 100






